BONDS & L-T NOTES

The PV of a liability is the PV of its related cash flows discounted at the effective rate of interest at time of issue.

Here is where you get to use the stuff you learned in chapter 6!

A bond’s selling price and, therefore, carrying value at time of issue depends on the effective rate that the market demands at time of issue.  The effective rate is the sum of the: 


(1) risk free rate + 


(2) a risk premium + 


(3) inflation rate.  

The higher the effective rate, the lower the selling price.

Terms to know:

Principal, par value, face amount, maturity value (all the same).

Maturity date (10 – 30 years for bonds, typically shorter for notes).

Interest:  (1) stated rate, coupon rate, nominal rate—in bond agreement—the amount that will be paid (cash flow);  

(2) effective rate (used to calculate interest expense/revenue).

Bonds have various degrees of backing and therefore risk.  Senior bonds have lower effective interest than subordinated bonds.  Secured debt has lower risk than unsecured.  Junk bonds frequently issued to finance LBOs are unsecured and risky.

Callable bonds give the issuer the option to retire the bonds early.  These sell for less than if they were not callable.

Registered bonds:  in name of investor, transfer is formal.
 Coupon bonds and bearer bonds:   not recorded in name of investor, transfer by means of possession.
Convertible bonds—conversion option has value, but currently we account for these bonds in the same way that we do nonconvertibles (except at time of conversion).  Home Depot has issued $billions of these in the past.

Income bonds only pay interest if company has income.

Revenue bonds are usually issued by government bodies and pay interest out of specific revenue sources. 

GO bonds issued by Washington State.

“Munis” have tax avantages.

Exotic bonds: e.g., Weather Bonds—hedge against heating oil prices.

Accounting for Bonds at time of issuance

Depends on whether the bonds are sold at par, above par (premium), or below par (discount).  The carrying value at time of issue equals the present value of all future bond payments (interest and principal).  If the:

effective interest rate  = stated rate, then sold at par
effective interest rate  < stated rate, then sold at premium
effective interest rate  > stated rate, then sold at discount
Carrying value (book value) of bonds = Bonds payable (face amount) + premium (or – discount).  The effective interest rate method requires that interest expense recognized each period equals the effective rate times carrying value of bonds.

Remember that investors determine the price of a bond (how much they will pay for the cash flows promised in the bond agreement).  If the interest payments exceed the required rate of return (effective interest rate) then investors will pay more than face (par) for the bond.  The difference between the face amount and market value of the bonds is called a premium, in this case.  

If investors pay less than face, then the bond is trading at a discount.  In this case, the stated interest rate is less than the interest required by investors, so investors are only willing to pay less than the face amount (they take a discount up front).  The difference (discount) represents the unpaid interest that investors expect at maturity.

EXAMPLES of BASIC JOURNAL ENTRIES

Par bonds:

Cash
$700,000


Bonds Payable

$700,000

($700,000 = the present value of bond payments, discounted at effective rate.  For par bonds, the effective rate = the stated rate).

Discount bonds:

Cash
$666,633

Discount (plug)
  33,367


Bonds Payable

$700,000

($666,663 = the present value of bond payments, discounted at effective rate.  For discount bonds, the effective rate > the stated rate).

Premium bonds:

Cash
$720,500


Premium (plug)
 
$  20,500


Bonds Payable

700,000

($720,500 = the present value of bond payments, discounted at effective rate.  For premium bonds, the effective rate < the stated rate).

For both discount and premium bonds, the carrying value approaches the face value as we get closer to maturity (i.e., the premium and discount accounts get smaller over time).

When financial statements are prepared between interest dates you need to recognize interest expense interest payable for the partial period.  Interest expense is calculated using the effective rate (times the BV of Bonds) and interest payable is calculated using the stated rate (times BP).  Any difference between the two is a plug to either Discount or Premium on Bonds.

Issue of Bonds between Interest Dates

The buyer will get the full interest payment at the next interest payment date (usually every 6 months) no matter when the bond is actually sold.  The buyer will pay, at time of purchase, the accrued interest.  WSJ quotes bond prices without accrued interest.  The buyer pays quoted price plus accrued interest to the seller.
Assume AAA Inc., issues 20-year 10% interest bonds with face amount of $1 million at par on 12/1/2003.  Interest is payable semiannually on January 1 and July 1, starting 1/1/2004 (every 6 mo. pay $50,000).
The entry that AAA will make at time of issue: 12/1/2003
Cash
$1,041,667


Bond Payable

$1,000,000


Interest Payable

41,667
On 12/31/2003:

Interest Expense
$  8,333


Interest Payable

$8,333
1/2/2004:
Interest Payable
$50,000


Cash

$50,000

[Premium/discount is amortized from date of sales not date of bonds—above example is par bond]

Amortization of discount or premium on bonds:

If management can show that there is no material difference between the effective-interest-rate method and a straight-line approach, then the straight-line method is permitted.  Under the straight-line method the original discount or premium is divided equally across all periods (interest expense is the same each period).

Costs to issue debt

Generally the firm receives less for the bonds than investors pay.

Middle parties (e.g., investment bankers) take a little for their services.  GAAP requires that an asset account (Debt Issue Costs) be debited for these costs.  Then the asset account is expensed on a straight-line basis over the life of the bond—debit Debt Issue Expense and credit Debt Issue Costs.

Public versus private placement costs.

EXAMPLE::

Nelson Company issues 20-year bonds that sell at par.  The bonds sell for $23,000,000 total.  The underwriter charges a 10% fee.

At issue:

Cash

$20,700,000

Debt Issue Costs
$2,300,000


Bonds Payable

$23,000,000

End of each year:

Debt Issue Expense
$115,000


Debt Issue Costs

$115,000*
1/20 * $2.3M = $115,000

Zero-coupon bonds

A very deep discounted bond.  The difference between the selling price and the face of the bond is the interest demanded by investors that is not paid until maturity.  A unique tax advantage to the issuer—get to deduct interest expense each period but only have to pay cash for interest at maturity (may be 20 years or longer!).  This works in the opposite direction for the buyer (pays tax on earned interest, but only gets cash at the end—unless cash-basis accounting).
Convertible bonds

Accounted for is exactly like nonconvertibles.
Assume that convertible bond was issued at a premium:

Cash
$105,000

Premium on…..

$  5,000

Convertible Bonds Payable  

100,000
When converted:  (shares issued are recorded at BV of bonds retired)

Convert. Bonds payable        
$100,000
Premium on..                       
     4,300

Common Stock—par ($1/share)
$  2,000

Additional paid-in capital

102,300
Bondholders received 20 shares for each $1,000 bond.  

I assume that the market price of a share of stock was greater than $50 at the time of conversion.  Why?
Long-Term Notes

When a company borrows from a bank, a (promissory) note is signed.  This creates a notes payable on the balance sheet of the borrower.  Usually the stated rate equals the market rate of interest (if not, then there will be a discount or premium account like with bonds).  Accounting is exactly like bonds.

Issuance:  ($200,000 principal, 10% annual interest)

Cash
$200,000


Notes Payable

$200,000

Interest payment dates:

Interest Expense**
$20,000

Cash

$20,000

** (stated rate * face amount);   par note,  so SR = ER
Notes with unrealistic interest rates:

Sometimes notes are exchanged for goods or services:

(1) value of these goods/services are readily determinable.

(2) value of these goods/services are NOT readily determinable.

(A) If the value of goods/services are less than the face of the note, then the stated rate is less than the market rate—buyer records the asset (at MV), a discount on notes payable (plug), and notes payable (face).

(B) If stated rate is less than market rate of like transaction, then calculate the discount as the difference between PV of discounting the note payments at the market rate and the face of note.

Installment Notes

Car payments, house payments, capital leases—pay equal amount each period and at maturity the note is paid off.  This is an annuity where the periodic payment equals the principal divided by the appropriate table factor.

For example, assume that you buy a new BMW for $73,000 and get a 40-month loan at 12%.  What will be your monthly payments?


Look in PVA table for n = 40, i = 1%.  


The table factor = 32.83469

Monthly payment = $73,000 / 32.83469 = $2,223.26

Each payment covers the interest expense and some principle.

e.g., the first payment: interest expense = $73,000 * 1% = $730.

Amount applied to reduction of the loan (payment—interest expense) = 2,223.26 – 730 = $1,493.26

Second payment: interest expense = (73,000 – 1,493.26) * 1% = 

 You could make an amortization schedule for the installment note (loan)—this is easy in Excel, use the five columns below:

Date      payment     interest      decrease in debt      loan balance

12/1/02     Bought a new BMW                                $73,000.00

1/1/03  $2,223.26     $730.00        1,493.26               $71,506.74

2/1/03  $2,223.26       710.51        1,512.75               $69,993.99

…….    ……….          …….          ………                  …………

Retirement (extinguisment) of Debt

At maturity:

Bonds Payable
$100,000


Cash

$100,000

(The discount or premium has been zeroed out as of the last interest payment)

Before maturity:  (buy off of the market, or call if a call option)
Must accrue interest and amortize premium/discount from last interest date to day of purchase or call.

 (1) First update accounts to day of retire: (straight-line usually ok to use)

Interest Expense
$4,900

Premium—BP
100


Interest Payable

$5,000

(2)

Bonds Payable (face)
$100,000

Premium—BP
550

Interest Payable
5,000


Gain on…(plug)

$   1,250 


Cash*

104,300

* (Bought bonds at market price of 99.3 + accrued interest of $5,000 [total]).

What has happened to interest rate since issue?

Prior to SFAS #145, GAAP required that this type of gain [or loss] be classified as extraordinary, even though it may not be unusual and infrequent), however SFAS #145 eliminated this requirement and these gains can be classified as Gain/loss on Retirement of Bonds—can be extraordinary if both unusual and infrequent.

Retirement (extinguisment) of Debt

Example (of call)  – On January 1, 2001, Masterwear Industries called its $700,000, 12% bonds when their carrying amount was $676,290.  The indenture specified a call price of $685,000.  The bonds were issued previously at a price to yield 14%.  Assume that the market price at time of call was greater than the call price or would not call!
Calls are usually on interest dates.
Bonds Payable (face amount)
$700,000
Loss on Early Extinguishment ($685,000 – 676,290)
$  8,710


Discount on Bonds Payable ($700,000 – 676,290)
23,710

Cash  (call price)

685,000
Impairment of Debt

(creditor accounting,  SFAS #114)

The accounting for creditor and debtor is asymmetric!  (see SFAS #15, 114, 145).  This complicates and confuses life.  

An impairment has occurred for the creditor:

when it is probable that the creditor will not be able to collect all amounts due according to the terms of the loan.

The amount of impairment loss = CV of loan – PV of all future cash flows (discounted at the original rate).

Usually, the creditor would make the following entry to recognize the impairment:

 Bad Debt Expense    
XXX


Allowance for Bad Debts

XXX

Where XXX = CV of loan – PV of all future cash flows (discounted at the original rate).

The creditor now has a new CV of loan (which is old CV minus Allowance for Bad Debt XXX).  

All future Interest Revenue is = newCV * Original interest rate

If no discount on N/R account, then Allowance for Bad Debt is debited to balance the difference between Cash (received) and Interest Revenue (recognized).

Let’s extend the example in the text:

Community Bank (creditor) p. 698-700
After recognition of impairment—12/31/2008
N/R = $500,000

Discount on N/R = $124,343  (updated to impairment date)
CV of N/R = $225,396.  (PV of new est. future pmts.)
Allowance for BD = 150,261  (plug = BV before - PV of new future pmts discounted at original rate = 10%)
Interest Rate = 10%  (original)

Account Balances:

	Date
	Int. Rev.
	Discount on N/R
	Allow. For BD
	CV Note

	1/1/2009
	
	$124,343
	$150,261
	$225,396

	12/31/2009
	$ 22,540**
	  101,803
	$150,261
	  247,936

	12/31/2010
	$ 24,794
	   77,010
	$150,261
	  272,729

	12/31/2011
	$ 27,273
	   49,739
	$150,261
	  300,000


** (10% * begin CV Note balance)
On 12/31/2011 upon receipt of $300,000 check, Community Bank:

Cash
$300,000

Disc. N/R
49,739

Allow. for BD
150,261


N/R

$500,000


Notice that “Discount on NR” did not go to zero before maturity (final payment)
Debtor would make no entry to recognize impairment until formal restructure is done.

Restructuring of Troubled Debt

Changing the original terms of the debt agreement—motivated by financial difficulty.  There are two basic approaches:

(1) restructure and settle debt at the same time

(2) continue debt with modified terms (reduce and/or delay interest pmts and/or maturity amount)


* cash payments less than carrying amount of debt


* cash payments more than carrying amount of debt

(1) debt is settled with an asset (could be cash).

If the carrying value of the debt exceeds the fair market value of the asset, the debtor recognizes a gain on troubled debt restructuring (usually extraordinary)!  If the asset is not on the books at its fair value, the debtor must first adjust to FMV and recognize a gain or loss for this adjustment.

******************************************************************************

Company CC runs into financial trouble and is unable to pay creditors.  CC negotiates with creditors and creditors agree to accept a piece of equipment for forgiving the entire debt.

(1) update depreciation to date of disposal, then adjust net asset to FMV:
Loss on disposal of assets**
$5,500

Machinery

$5,500

(to adjust net machinery to market value); ** ordinary loss
Note Payable (par)
$300,000

A/D—machinery
25,000


Gain on Troubled…

$125,000


Machinery

200,000
Should update Interest Expense & Interest Payable to day of settlement—not done here.
What was the book value of the machinery prior to negotiations?

(2) continue debt with modified terms:


--future cash payments less than carrying amount of debt 


(**future interest expense is eliminated**)

Debtor reduces the debt’s carrying amount so that it equals the sum of the future payments.  Reduce any interest payable then note payable to do this.  Recognize a (extraordinary) gain on debt restructuring as the amount that the carrying amount of the debt was reduced.

*******************************************************************

Assume that company CC is restructuring a $300,000 note and missed the last interest payment of $6,000.  The bank agrees to forego the $6,000 interest and any future interest payments but requires  $100,000 at the end of the next two years to settle the debt.

Carrying amount = $306,000

Total payments = $200,000

Gain = $106,000

(On date of restructure:)

Interest Payable
$  6,000

Note Payable
100,000


Gain on….

$106,000

All subsequent payments are applied to reduce the note payable—no interest recognized.

(2) continue debt with modified terms:


--future cash payments more than carrying amount of debt--

interest is the difference.

No reduction in the carrying value of the debt!

No entry is made by the debtor at time of restructure.

Need to calculate a new effective rate of interest (lower than the original).  Record interest annually at the new rate.

To calculate the new rate:  


            Factor = carrying amount / total of future pmts.

For the number of periods, look in the PVA table and find this factor then the new interest rate.  You could also guess at the rate with a calculator until you get the factor.  If there are not many periods, straight-line method would work (not materially different).

Troubled Debt Restructuring

(Some more examples)

When changing the original terms of a debt agreement is motivated by financial difficulties experienced by the debtor (borrower), the new arrangement is referred to as a troubled debt restructuring.  By definition, a troubled debt restructuring involves some concessions on the part of the creditor (lender).  A troubled debt restructuring may be achieved in either of two ways:

(a)
The debt may be settled at the time of the restructuring, or

(b)
The debt may be continued, but with modified terms.

Debt is Settled

Example  – First Prudent Bank agrees to settle Brillard’s $30 million debt in exchange for property having a fair market value of $20 million.  The carrying amount of the property on Brillard’s books is $17 million



 ($ in millions)
Land ($20 million minus $17 million)

3

Gain (ordinary) on disposition of assets


3

Note payable (carrying amount)

30

Gain (E.O.) on troubled debt restructuring

10

Land (fair value)


20
DEBT CONTINUED, WITH MODIFIED TERMS:

When Total Cash Payments Are 
Less Than the Carrying Amount of the Debt

Example – Brillard Properties owes First Prudent Bank $30 million, under a 10% note with 2 years remaining to maturity.  Due to financial difficulties of the developer, the previous year's interest ($3 million) was not paid.  First Prudent Bank agrees to:
(1)
forgive the interest accrued from last year, 
(2)
reduce the remaining two interest payments to $2 million each, 
(3) 
reduce the principal to $25 million.

Analysis:



Carrying amount:
$30 million + $3 million =
$33 million
Future payments:
($2 million x 2) + $25 million =
  29 million

     Gain 


$  4 million




($ in millions)

Accrued interest payable (10% x $30 million)

3
Note payable ($30 million –  $29 million)

1

Gain (extraordinary) on debt restructuring

4
At Each of the Two Interest Dates

Note payable

2

Cash (revised “interest” amount)


2

At Maturity
Note payable

25

Cash (revised principal amount)


25
DEBT CONTINUED, WITH MODIFIED TERMS

When Total Cash Payments 
Exceed the Carrying Amount of the Debt

If the payments exceed the amount owed, the restructured debt agreement still provides interest on the debt – but less than before the agreement was revised.  No longer is the effective rate 10%.  The accounting objective now is to determine what the new effective rate is and record interest for the remaining term of the loan at that new, lower rate.

Example – Brillard Properties owes First Prudent Bank $30 million, under a 10% note with 2 years remaining to maturity.  Due to Brillard’s financial difficulties, the previous year's interest ($3 million) was not paid.  First Prudent Bank agrees to:

(1)
delay the due date for all cash payments until maturity, and

(2)
accept $34,333,200 at that time in full settlement of the debt.


Analysis:



Carrying amount:
$30 million + $3 million =
$33,000,000
Future payments:


  34,333,200

     Interest


$ 1,333,200

When Total Cash Payments 
Exceed the Carrying Amount of the Debt

(continued)

(
The discount rate that “equates” the present value of the debt ($33 million) and its future value ($34,333,200) is the effective rate of interest.

Calculation of the new effective interest rate:

• $33,000,000÷ $34,333,200= .9612 – the Table 6-2 value for n = 2, i = ?
• In row 2 of Table 6-2, the number .9612 is in the 2% column.  So, this is the new effective interest rate.
Since the total future cash payments are not less than the carrying amount of the debt, no reduction of the existing debt is necessary and no entry is required at the time of the debt restructuring. 

Even though no cash is paid until maturity under the restructured debt agreement, interest still is recorded annually – but at the new rate.  

When Total Cash Payments 
Exceed the Carrying Amount of the Debt

(continued)

At the End of the First Year

Interest expense (2% x [$30,000,000+3,000,000])
660,000

Accrued interest payable


660,000


At the End of the Second Year

Interest expense (2% x [$30,000,000+3,660,000])
673,200

Accrued interest payable


673,200


At Maturity (End of the Second Year)

Note payable

30,000,000
Accrued interest payable 
    ($3,000,000 + $660,000 + $673,200)

4,333,200

Cash (required by new agreement)


34,333,200

Receivable Impaired by 
Troubled Debt Restructuring – Terms Modified—Creditor Accouning
Brillard Properties owes First Prudent Bank $30 million, under a 10% note with 2 years remaining to maturity.  Due to financial difficulties of the developer, the previous year's interest ($3 million) was not paid.  First Prudent Bank agrees to:


(1) forgive the interest accrued from last year, 


(2) reduce the remaining two interest payments to $2 million each, 


(3) reduce the principal to $25 million

Analysis

Previous Value:

Accrued interest
 
   (10% x $30,000,000)
$  3,000,000

Principal



30,000,000
   Carrying amount of the receivable

$33,000,000

New Value:

Interest
$2 million
x 
1.73554 *    =
$  3,471,080
Principal
$25 million
x 
0.82645 **  =
20,661,250
   Present value of the receivable

 (24,132,330)
Loss:




$  8,867,670

*
present value of an ordinary annuity of $1: n=2, i=10%


**
present value of $1: n=2, i=10%

Journal Entry

Loss on troubled debt restructuring (to balance)

8,867,670

Accrued interest receivable (10% x $30,000,000)


3,000,000

Note receivable ($30,000,000 -  $24,132,330)


5,867,670

(After restructuring, the lender still records interest annually at the original 10% effective rate.)
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